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| Answer ALL questmns | |

PART A K '_ _1. : : R (10x2=20 Marks)
How is Har va1d Archltecture better over Von Neumann afch1tecture ?

What is mﬂuence of cIock rate and cycles per mstl uctlon in CPU functmn ?

. Compare hardwale _and softwa_re paral_le_hsm_.

List one advantage _a_nd disadvantage :f_'or microprogl'afnmed controi. '
Data parallelism tasks need not take equal time to execute, Justify.

Why does circuit switching effect_ively help in SIMD computers ?
Ccmpare process and thlead =

‘Why implicit parallel p1 ogrammmg con31dered easuer than explicit type ?
What is advantage of 1nterrupt prior 1t1z1ng in proces_sors ?

What is Cache coherence and Cache updating ?

PART - B (13%5=65 Marks)
a) Write briefly on functioning of CPU while (i) fetching a word from memory and
(ii) performance with reduced power consumption. (7+6)
(OR)
b) With block diagram, explain Flynns classification of computer architectures. (13)
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12. a) Justify why : (7'*'65 |
1) thread level parallelism has better performance than instruction level parallelism.
i) single thread processors are slower than multi thread p1 0Cessors.

(OR)

b) Write briefly on the following : (7+6)
i) Need for high speed computing
ii) Dynamic branch predlctlon _' '_ o
13. a) Explain the advantages of loop level parallehsm thh sultable example (13) |
. j_b) Write briefly on the followmg (7+6)

1) Alchltectuxal conﬁgmatlon of SIMD model
i) Sorting in parallel AR

14. . a). Write . br 1eﬂy on Latency, avmdance 1educt10n and hldmg mechamsms ina
multithreaded a1ch1tectu1e S . _
i (OR) FL RS fE R EI RIS _
b)) 1) Compare brxeﬂy on the pe1f01mances of shared and d1st11buted mem01y
archltectules and : . - :
i) J ustlfy on whlch of these have 1mp10ved synchlomzatlon and memory.

cons1stency (7+6)

15. a) Explaln for memory management scheme br1eﬂy the (1) memaory mappmg

(ii) cache perfox mance. (7+6)
©OR) .
b) Write brleﬂy on the followmg (7+6)

| 11) Mem01y buses
16. a) Design of a Arlthmetlc Logic Unit with har dwn ed contr ol and mICI oprogrammed
control features for a processor.
(OR)

b) A program is run on a 40 MHz CPU with instruction mix and corr esponding
count is as given below, Determine the Effective CPI, Execution time, MIPS

rate of program.

i) RAID
- (1x15=15 Marks)

(15)

(15)

‘s Instruction type Cl_eck cycle count Instruction count
Integer atithmetic 1 45000
Floating point 2 32000
Data transfer 2 15000
Control transfer 2 8000




